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Seat No. :  _______________ 
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B.A. (Sem.-I) 

EC-II-105 : Statistics 

(Fundamental of Statistics) 
 
Time :  3 Hours]  [Max. Marks : 70 
 

ÍÛæ̃ Û¶ÛÛ :   (1) ÍÛÛþùÛ ïéõÅÛîýÛäÅÛé¤ø¶ÛÛé Š¸ÛýÛÛé•Û ïõÁõà ÉÛïõÛÉÛé. 

Instructions :  Simple calculator can be used. 

    (2) ›÷¾Û¨Ûà ¼ÛÛ›ä÷¶ÛÛ …×ïõ ¸ÛóÊ¶Û¶ÛÛ •Ûä¨Û þùÉÛÛÙÈÛé ™öé. 

     Figures on right hand side indicate marks of the question. 

 

1. (a) …ÛÈÛèÜ«Û ÜÈÛ©ÛÁõ¨Û …¶Ûé ïõÛéÌ¤øï õÁõ˜Û¶ÛÛ¶ÛÛé …¬ÛÙ ÍÛ¾Û›ÛÈÛÛé. 2 

  Explain the meaning of frequency distribution and tabulation. 

 (b) ÈÛ•ÛâïõÁõ¨Û …é¤øÅÛé ÉÛä× ? ÈÛ•ÛâïõÁõ¨Û¶Ûä× ¾ÛÐü«ÈÛ ÅÛ”ÛÛé. 5 

  What is meant by classification ? Write its importance. 

 (c) ¶Ûà˜Ûé¶ÛÛ …ÈÛÅÛÛéïõ¶ÛÛé ¸ÛÁõ¬Ûà …éïõ ÈÛ•ÛÙ 30-40 ÐüÛéýÛ …¶Ûé ÈÛ•ÛÙÅÛ×¼ÛÛˆ 10 ÐüÛéýÛ ©ÛéÈÛä× …ÛÈÛèÜ«Û 
ÜÈÛ©ÛÁõ¨Û ¼Û¶ÛÛÈÛÛé. 7 

  From the following observations, prepare a frequency distribution having one class      
30-40 and with class interval 10. 

  28, 52, 60, 33, 18, 26, 44, 63, 26, 29, 48, 20, 60, 64, 35, 30, 46, 28, 39, 46, 15, 37, 
43, 33, 30, 56, 50, 28, 40, 31 

                    …¬ÛÈÛÛ/OR 

 (a) ¸ÛóÛ¬ÛÜ¾Ûïõ ¾ÛÛÜÐü©Ûà ¾ÛéÇÈÛÈÛÛ¶Ûà ¼Ûé Áõà©ÛÛé ›÷¨ÛÛÈÛÛé. 2 

  State any two methods of obtaining primary data. 

 (b) …ÛþùÉÛÙ ¸ÛóÊ¶ÛÛÈÛÅÛà¶ÛÛ ÅÛ“Û¨ÛÛé ›÷¨ÛÛÈÛÛé. 5 

  State the characteristics of an ideal questionnaire. 

 (c) ¸ÛóÛ¬ÛÜ¾Ûïõ ¾ÛÛÜÐü©Ûà …¶Ûé •ÛÛíé¨Û ¾ÛÛÜÐü©Ûà ÈÛ˜˜Ûé¶ÛÛé ©ÛºõÛÈÛ©Û ÅÛ”ÛÛé. 7 

  Write the difference between primary data and secondary data. 
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2. (a) ¾ÛµýÛïõ¶Ûà ÈýÛÛ”ýÛÛ …Û¸ÛÛé. 2 

  Give definition of mean. 

 (b) 20 …ÈÛÅÛÛéïõ¶ÛÛé¶ÛÛé ¾ÛµýÛïõ 32.5 ™öé. ›Ûé ¼ÛµÛÛ …ÈÛÅÛÛéïõ¶ÛÛé¾ÛÛ×¬Ûà 2.5 ¼ÛÛþù ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛé …¶Ûé 
þùÁéõïõ …ÈÛÅÛÛéïõ¶Û¶Ûé 2 ÈÛ¦éø ½ÛÛ•ÛÈÛÛ¾ÛÛ× …ÛÈÛé ©ÛÛé ¶ÛÈÛÛé ¾ÛµýÛïõ ÉÛÛéµÛÛé. 5 

  The mean of 20 observations is 32.5. If 2.5 is subtracted from each observations 
and each observation is divided by 2, find the value of new mean. 

 (c) ¶Ûà˜Ûé¶Ûà …ÛÈÛèÜ«Û ÜÈÛ©ÛÁõ¨Û ¸ÛÁõ¬Ûà X–, Z …¶Ûé D6 ÉÛÛéµÛÛé. 7 

  From the following observations, find X
–

, Z and D6. 

ÈÛ•ÛÙ 

Class 

0-9 10-19 20-29 30-39 40-49 50-59 60-69 

fi 2 5 10 18 10 3 2 

…¬ÛÈÛÛ/OR 

 (a) ¾ÛµýÛÍ¬Û¶ÛÛé …¬ÛÙ ÅÛ”ÛÛé. 2 

  Write the meaning of median. 

 (b) ¾ÛµýÛïõ¶ÛÛ •Ûä¨Û þùÛéÌÛ ÅÛ”ÛÛé. 5 

  Write the merits and demerits of mean. 

 (c) ¶Ûà˜Ûé¶ÛÛ …ÛÈÛèÜ«Û ÜÈÛ©ÛÁõ¨Û ¸ÛÁõ¬Ûà M, Q3 …¶Ûé P35 ÉÛÛéµÛÛé. 7 

  From the following frequency distribution, find M, Q3 and P35 : 

ÈÛ•ÛÙ 

Class 

0-5 5-10 10-15 15-20 20-25 25-30 30-35 35-40 

fi 6 10 15 25 20 12 7 5 

 

3.  (a) ¸Ûó¾ÛÛÜ¨Û©Û ÜÈÛ˜ÛÅÛ¶Û¶ÛÛé …¬ÛÙ ÅÛ”ÛÛé. 2 

  Write the meaning of standard deviation. 

 (b) 10 …ÈÛÅÛÛéïõ¶ÛÛé¶ÛÛé ÍÛÁõÈÛÛÇÛé 120 …¶Ûé …ÈÛÅÛÛéïõ¶ÛÛé¶ÛÛ ÈÛ•ÛÛë¶ÛÛé ÍÛÁõÈÛÛÇÛé 2080 ™öé. …Û ¸ÛÁõ¬Ûà 
˜ÛÅÛ¶ÛÛ×ïõ ÉÛÛéµÛÛé. 5 

  The sum of 10 observation is 120 and the sum of squares of observations is 
2080. Find the coefficient of variation. 
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 (c) ¶Ûà˜Ûé¶Ûà …ÛÈÛèÜ«Û ÜÈÛ©ÛÁõ¨Û ¸ÛÁõ¬Ûà ÍÛÁéõÁõÛÉÛ ÜÈÛ˜ÛÅÛ¶Û ÉÛÛéµÛÛé. 7 

  From the following frequency distribution, find mean deviation.   

ÈÛ•ÛÙ 

Class 

0-8 8-16 16-24 24-32 32-40 40-48 

fi 7 8 20 20 8 7 

…¬ÛÈÛÛ/OR 

 (a) ¸ÛóÍÛÛÁõ¾ÛÛ¶Û¶ÛÛé …¬ÛÙ ÍÛ¾Û›ÛÈÛÛé. 2 

  Explain the meaning of dispersion. 

 (b) ¶Ûà˜Ûé¶ÛÛ …ÛÈÛèÜ«Û ÜÈÛ©ÛÁõ¨Û ¸ÛÁõ¬Ûà ˜Û©Ûä¬ÛÙïõ ÜÈÛ˜ÛÅÛ¶Û ÉÛÛéµÛÛé : 5 

  From the following frequency distribution, find quartile deviation :   

xi 11 12 14 15 16 18 19 20 

fi 5 8 15 30 18 10 8 5 

 (c) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïéõ¤øÅÛÛ ¤øïõÛ …ÈÛÅÛÛéïõ¶ÛÛé x– ± 2S ¾ÛÛ× ÍÛ¾ÛÛýÛéÅÛÛ ™öé ©Ûé ÉÛÛéµÛÛé. 7 

  Find how many percentage of observations from the following lies between            

x– ± 2S.   

  23, 38, 60, 48, 50, 32, 40, 52, 28, 39 

 

4.   (a) ÜÈÛÌÛ¾Û©ÛÛ¶Ûà ïõÍÛÛé¤øà…Ûé ›÷¨ÛÛÈÛÛé. 2 

  State tests of skewness. 

 (b) …éïõ …ÛÈÛèÜ«Û ÜÈÛ©ÛÁõ¨Û¾ÛÛ× ¼Ûé …×Ü©Û¾Û ˜Û©Ûä¬ÛÙïõÛé¶ÛÛé ÍÛÁõÈÛÛÇÛé 82 …¶Ûé ©ÛºõÛÈÛ©Û 15 ™öé. ›Ûé ¾ÛµýÛÍ¬Û 
38 ÐüÛéýÛ ©ÛÛé ÜÈÛÌÛ¾Û©ÛÛ×ïõ ÉÛÛéµÛÛé. 5 

  In a frequency distribution, the sum of two extreme quartiles is 82 and their 
difference is 15. If median is 38, find coefficient of skewness. 

 (c) ¶Ûà˜Ûé¶ÛÛ …ÛÈÛèÜ«Û ÜÈÛ©ÛÁõ¨Û ¸ÛÁõ¬Ûà ïõÛÅÛÙ Ü¸ÛýÛÍÛÙ¶Û¶Ûà Áõà©Ûé ÜÈÛÌÛ¾Û©ÛÛ×ïõ ÉÛÛéµÛÛé. 7 

  From the following frequency distribution, find coefficient of skewness by Karl 
Pearson’s method.   

ÈÛ•ÛÙ 

Class 

0-20 20-40 40-60 60-80 80-100 100-120 120-140 

fi 5 10 20 35 25 15 10 

…¬ÛÈÛÛ/OR 
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 (a) ÜÈÛÌÛ¾Û©ÛÛ …¶Ûé ÜÈÛÌÛ¾Û©ÛÛ×ïõ¶ÛÛé …¬ÛÙ ÅÛ”ÛõÛé. 2 

  Write the meaning of skewness and coefficient of skewness. 

 (b) …éïõ …ÛÈÛèÜ«Û ÜÈÛ©ÛÁõ¨Û¾ÛÛ× ˜ÛÅÛ¶ÛÛ×ïõ 25% ™öé. ›Ûé ¾ÛµýÛïõ 32 …¶Ûé ¼ÛÐäüÅÛïõ 35 ÐüÛéýÛ ©ÛÛé 
ÜÈÛÌÛ¾Û©ÛÛ×ïõ ÉÛÛéµÛÛé. 5 

  In a frequency distribution, the coefficient of variation is 25%, if mean is 32 and 
mode is 35, find coefficient of skewness.   

 (c) ¶Ûà˜Ûé¶ÛÛ …ÛÈÛèÜ«Û ÜÈÛ©ÛÁõ¨Û ¸ÛÁõ¬Ûà ýÛÛé•ýÛ ¸Û±ùÜ©Û…é ÜÈÛÌÛ¾Û©ÛÛ×ïõ ÉÛÛéµÛÛé. 7 

  From following frequency distribution, find coefficient of skewness by using 
appropriate method.   

¾ÛÛîÍÛÙ 

Marks 

15¬Ûà …Ûé™öÛ 

Below 15 

15-30 30-45 45-60 60-75 75-90 90 ¬Ûà ÈÛµÛä 

Above 90 

ÜÈÛ²Û¬Ûâ  

No. of 
students 

12 20 35 48 22 8 5 

  

5. (a) ýÛÛé•ýÛ ÜÈÛïõÅ¸Û ¸ÛÍÛ×þù ïõÁõà ¶Ûà˜Ûé¶ÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé. (•Û¾Ûé ©Ûé ÍÛÛ©Û) 7 

  Give the answer to the following questions by selecting correct option : (any seven) 

  (1) ÍÛÛ¾ÛÜýÛïõ …¶Ûé ÈÛ©ÛÙ¾ÛÛ¶Û¸ÛªÛÛé¾ÛÛ×¬Ûà ¾ÛÇ©Ûà ¾ÛÛÜÐü©Ûà ïéõÈÛà ¾ÛÛÜÐü©Ûà ™öé ? 

   (a) ¸ÛóÛ¬ÛÜ¾Ûïõ ¾ÛÛÜÐü©Ûà (b) •ÛÛíé¨Û ¾ÛÛÜÐü©Ûà 

   (c) ˜ÛÛé‘õÍÛ ¾ÛÛÜÐü©Ûà (d) …Í¸ÛÌ¤ø ¾ÛÛÜÐü©Ûà 

   Which type of informations are obtained from periodicals and     
newspapers ? 

   (a) Primary data (b) Secondary data 

   (c) Perfect data (d) Ambiguous data 

  (2) ÍÛ×”ýÛÛ©¾Ûïõ ¾ÛÛÜÐü©Ûà¶Ûé ¤æ×øïõÛ¨Û¾ÛÛ× Áõ›æ÷ ïõÁõÈÛÛ ÉÛé¶ÛÛé Š¸ÛýÛÛé•Û ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛé ™öé ? 

   (a) …ÛÈÛèÜ«Û (b) ¾ÛµýÛ Ýïõ¾Û©Û 

   (c) …ÛÈÛèÜ«Û ÜÈÛ©ÛÁõ¨Û (d) ÈÛ•ÛÙ ÅÛ×¼ÛÛˆ 

   What is useful to represent quantitative data in short ? 

   (a) Frequency 

   (b) Mid-value 

   (c) Frequency distribution 

   (d) Class-interval 
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  (3)  ˜Û©Ûä¬ÛÙïõÛé¶Ûà ÍÛ×”ýÛÛ ïéõ¤øÅÛà ÐüÛéýÛ ™öé ? 

   (a) …éïõ (b) ¼Ûé 

   (c) ªÛ¨Û (d) ˜ÛÛÁõ 

   How many quartiles are there ? 

   (a) One (b) Two 

   (c) Three (d) Four 

  (4)  ïõýÛÛ …ÛÅÛé”Û ¸ÛÁõ¬Ûà ¾ÛµýÛÍ¬Û, ˜Û©Ûä¬ÛÙïõ, þùÉÛÛ×ÉÛïõ ›÷éÈÛÛ ¾ÛÛ¸Û ÉÛÛéµÛà ÉÛïõÛýÛ ™öé ? 

   (a) …ÛÈÛèÜ«Û ¼ÛÐäüïõÛé¨Û (b) …ÛÈÛèÜ«Û ÈÛ’õ 

   (c) Í©Û×½Û …ÛÅÛé”Û (d) ÍÛ×˜ÛýÛà …ÛÈÛèÜ«Û ÈÛ’õ 

   Which graph is used to find measures like median, quartiles, deciles ? 

   (a) Frequency polygon 

   (b) Frequency curve 

   (c) Histogram 

   (d) Cumulative frequency curve 

  (5)  ÍÛÁéõÁõÛÉÛ¶ÛÛ ïõýÛÛ ¾ÛÛ¸Û¶Ûé ÜÍ¬ÛÜ©Û¾ÛÛ¶Û ÍÛÁéõÁõÛÉÛ ¸Û¨Û ïõÐéü ™öé ? 

   (a) ¾ÛµýÛïõ (b) ¾ÛµýÛÍ¬Û 

   (c) ¼ÛÐäüÅÛïõ (d) ½ÛÛÜÁõ©Û ¾ÛµýÛïõ 

   Which measure of average is also called positional average ? 

   (a) Mean (b) Median 

   (c) Mode (d) Weighted mean 

  (6)  ¼Ûé ¾ÛÛÜÐü©Ûà¶ÛÛ ¸ÛóÍÛÛÁõ¶Ûà ÍÛÁõ”ÛÛ¾Û¨Ûà ¾ÛÛ¤éø¶Ûä× ËÛéÌ¥ø ¾ÛÛ¸Û ïõýÛä× •Û¨ÛÛýÛ ? 

   (a) ˜Û©Ûä¬ÛÙïõ ÜÈÛ˜ÛÅÛ¶Û (b) ÍÛÁéõÁõÛÉÛ ÜÈÛ˜ÛÅÛ¶Û 

   (c) ¸Ûó¾ÛÛÜ¨Û©Û ÜÈÛ˜ÛÅÛ¶Û (d) ˜ÛÅÛ¶ÛÛ×ïõ 

   Which is the best measure of dispersion for comparing dispersion of two 
data ? 

   (a) Quartile deviation (b) Mean deviation 

   (c) Standard deviation(d) Coefficient of variation 

  (7)  ÜÈÛÌÛ¾Û©ÛÛ×ïõ ïéõÈÛä× ¾ÛÛ¸Û ™öé ? 

   (a) ÍÛÛ¸Ûé“Û (b) Ü¶ÛÁõ¸Ûé“Û 

   (c) ¤øïõÛÈÛÛÁõà (d) …ýÛÛé•ýÛ 

   Which type of measure is coefficient of skewness ? 

   (a) relative (b) absolute 

   (c) percentage (d) improper 
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  (8)  ”ÛäÅÅÛÛ ™öé¦øÛÈÛÛÇÛ …ÛÈÛèÜ«Û ÜÈÛ©ÛÁõ¨Û¾ÛÛ× ÜÈÛÌÛ¾Û©ÛÛ×ïõ ÉÛÛéµÛÈÛÛ ïõˆ ¸Û±ùÜ©Û ýÛÛé•ýÛ •Û¨ÛÛýÛ ? 

   (a) ïõÛÅÛÙ Ü¸ÛýÛÍÛÙ¶Û (b) ÜÍ¸ÛýÛÁõ¾Ûé¶Û 

   (c) ¼ÛÛŠÅÛà (d) ¾ÛÛÉÛÙÅÛ 

   Which method is appropriate to find coefficient of skewness when open-

end classes are given ? 

   (a) Karl Pearson (b) Spearman 

   (c) Bowely (d) Marshall 

 (b) ýÛÛé•ýÛ ÜÈÛïõÅ¸Û ¸ÛÍÛ×þù ïõÁõà ”ÛÛÅÛà›÷•ýÛÛ ¸ÛæÁõÛé : (•Û¾Ûé ©Ûé ÍÛÛ©Û)   7 

  Fill up the following blanks by selecting correct option : (any seven)  

  (1) ¸Ûó¬Û¾Û ¸ÛÛ×˜Û ¸ÛóÛïèõÜ©Ûïõ ÍÛ×”ýÛÛ¶ÛÛé ¾ÛµýÛïõ _____ ¬ÛÛýÛ. (5, 3, 1) 

   The mean of first five natural numbers is _____. (5, 3, 1) 

  (2) 7, 7, 7, 7 …¶Ûé 7 …ÈÛÅÛÛéïõ¶ÛÛé¶Ûä× ¸Ûó¾ÛÛÜ¨Û©Û ÜÈÛ˜ÛÅÛ¶Û _____ ¬ÛÛýÛ. (0, 7, 35) 

   Standard deviation of observations 7, 7, 7, 7 and 7 is _____. (0, 7, 35) 

  (3) ›Ûé x– = 12 …¶Ûé M = 14 ÐüÛéýÛ ©ÛÛé Z = _____. (15, 10, 18)  

   If x– = 12 and M = 14 then Z = _____. (15, 10, 18) 

  (4) …éïõ …ÛÈÛèÜ«Û ÜÈÛ©ÛÁõ¨Û¾ÛÛ× ˜Û©Ûä¬ÛÙïõ ÜÈÛ˜ÛÅÛ¶Û 7.5 ™öé. ›Ûé Q1 = 12 ÐüÛéýÛ ©ÛÛé Q3 = ____ 

¬ÛÛýÛ. (15, 27, 7.5) 

   Quartile deviation of a frequency distribution is 7.5. If Q1 = 12 then Q3 = 

_____. (15, 27, 7.5) 

  (5) …éïõ ÍÛ×Ü¾Û©Û …ÛÈÛèÜ«Û ÜÈÛ©ÛÁõ¨Û¾ÛÛ×  x– = 32 …¶Ûé S = 5 ™öé. ©ÛÛé Z = _____. (0, 5, 32) 

   In a symmetric frequency distribution, if  x– = 32 and S = 5 then Z = _____. 

(0, 5, 32) 

  (6) 10 …ÈÛÅÛÛéïõ¶ÛÛé ¾ÛÛ¤éø ¾ÛµýÛïõ¾ÛÛ×¬Ûà ÅÛàµÛéÅÛÛ ÜÈÛ˜ÛÅÛ¶ÛÛé¶ÛÛ ÈÛ•ÛÛë¶ÛÛé ÍÛÁõÈÛÛÇÛé 2250 ™öé. ©ÛÛé 
¸Ûó¾ÛÛÜ¨Û©Û ÜÈÛ˜ÛÅÛ¶Û _____ ¬ÛÛýÛ. (12, 225, 15) 

   For 10 observations, the sum of squares of deviations taken from mean is 

2250. So standard deviation = _____. (12, 225, 15) 
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  (7) …éïõ ÍÛ¾ÛäÐü ¾ÛÛ¤é Q3 – M = 8 …¶Ûé M – Q1 = 4 ÐüÛéýÛ ©ÛÛé ÜÈÛÌÛ¾Û©ÛÛ×ïõ _____ ¬ÛÛýÛ.           

(0.5, 0.33, 0.4)ø 

   For a group, Q3 – M = 8 and M – Q1 = 4, hence coefficient of skewness is 

_____. (0.5, 0.33, 0.4) 

  (8) …ÈÛÅÛÛéïõ¶ÛÛé 6, 12, 30, 20, 10, 33 …¶Ûé 28 ¾ÛÛ¤éø Q1 = _____ ¬ÛÛýÛ. (10, 11, 12) 

   For the observations 6, 12, 30, 20, 10, 33, and 28, Q1 = _____. (10, 11, 12) 

_____________ 



DR-122 8  

 


